Molecular Genetics – Worksheet 2

Answer the following as TRUE or FALSE:

1) ____ Chromosomes contain information that is used to produce proteins.

2) ____ Chromosomes are found in the nucleus.

3) ____ RNA is part of a chromosome.

4) ____ DNA has a different sugar (deoxyribose) in its structure than RNA.

5) ____ DNA is the biochemical molecule that makes up the chromosome.

6) ____ DNA is found in ribosomes.

7) ____ m-RNA is found in the mitochondria.

8) ____ Proteins can be assembled in the mitochondria.

9) ____ Ribose is an example of a nucleotide.

10) ____ An anticodon is made up of 3 nucleotides & is found on the t-RNA.

11) ____ Uracil is a base pair found on DNA.

12) ____ A molecule of adenine matches with a molecule of cytosine.

13) ____ Transcription involves the copying of the DNA code with m-RNA.

14) ____ Translation occurs when DNA is changed into m-RNA.

15) ____ Each base on the m-RNA strand gives the information for an amino acid.

16) ____ There are only 20 different amino acids that combine to make a protein.

17) ____ During DNA replication new strands are added to a splitting molecule of DNA.

18) ____ The message for producing protein is found in the ribosomes.

19) ____ t-RNA has a specific anticodon for a specific amino acid that it carries.

20) ____ A nucleotide is made up of a base, a sugar & a phosphate.

21) ____ Cytosine is an example of a base found on either DNA or m-RNA.

22) ____ Thymine is an example of a base found on either DNA or m-RNA.

23) ____ Uracil is a base found only in m-RNA and binds to the adenine on the DNA.

24) ____ When amino acids join they form peptide bonds & eventually proteins.

25) ____ CTAGTT base sequence on DNA forms a GAUCAA base sequence with m-RNA.

26) ____ GAUCAA base sequence on m-RNA is enough to allow t-RNA to deliver 3 amino acids.

27) ____ Mutations occur when the base sequences are copied from DNA incorrectly.

28) ____Meiosis & mitosis are both involved with the process of cellular division.

29) ____ The end product of meiosis & mitosis is the same.

30) ____ Normal body cells usually have paired chromosome strands.

31) ____ Diploid cells have only one half of the total genetic material.
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32) ____ Sperm cells are haploid because they have no paired chromosome strands.

33) ____ Haploid cells are produced by mitosis.

34) ____ During interphase normal body cells duplicate their 

genetic material.

35) ____ During meiosis the cell divides twice and the 

chromosomes duplicate twice.

General Review for Genetic Chapters – Worksheet 4

1) A rancher crosses a homozygous black bull with a homozygous white cow where black is the dominant colour.  What ratio of black to white would appear in the F1 generation, and in the F2 generation?

2) If a dog with long legs & short tail was crossed with another dog with short legs & long tail (long legs & tail is dominant), determine the phenotypic & genotypic ratios for each of the 4 possible punnetts you need to prepare.
3) Define & contrast incomplete dominance with codominance.  Give an example for each.

4) If a homozygous red bull was crossed with a homozygous white cow where neither colour was equally dominant, what colours would result in the F1 generation?

5) If a person who was homozygous for zagnut & noodles married a person who was homozygous for slapstick & rice where no characteristic was dominant, what would you expect in the F1?

6) Define a sex-linked characteristic? 

7) Explain why males are more likely colour-blind than females?

8) Explain how the sex of an offspring is determined in humans.

